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Week 7: Maths Only Connect Character Walls 01 06 2020 Answers 

Wall 1  

Can you sort the 16 words into 4 groups of words/ letters that all link? 

What are the links? 

 

 
Hexagon 

 
Day 

 
Square 

 
Acute 

 
Second 

  
                      Pentagon 

 
Octagon 

 
L 

 
Right Angle 

 
Minute 

 
Obtuse 

 
M 

 
Reflex 

 
C 

 
D 

 
Week 

 

All answers in blue are polygons    All answers in yellow are linked to time 

           

All answers in pink are types of angle    All answers in green are Roman Numerals 

Wall 2  



Can you sort the 16 words into 4 groups of words that all link? 

What are the links? 

 
Cube 

 
Prime 

 
Km 

 
Cuboid 

 
Metre 

 
Square 

 
Multiplication 

 
Multiply 

 
Cubed 

 
Sphere 

 
mm 

 
Triangular 

 
Pyramid 

 
Times 

 
cm 

 
Product 

 

All answers in blue are 3D shapes    All answers in yellow are words for multiplication 

           

All answers in pink are types of numbers   All answers in green are words linked to length/height 

 

 

 

 

 

 

 

 



 

 

 

Wall 3 KS1  

Find the four calculations that are equal. 

 
19 + 1 

 
3 less than 20  

 
7+ 3  

 
17 - 4  

 
10 + 7  

 
6 + 4  

 
Baker’s dozen  

 
40 ÷ 2  

 
5 x 2  

 
2 less than 15  

 
20 subtract 10 

 
1 more than 16 

 
3 + 10  

 
Double 10 

 
Half of 34  

 
6 + 5 + 9  

 

 

 

All answers in blue equal 20    All answers in yellow equal 17   

           

All answers in pink equal 10    All answers in green equal 13  

 

 

 



 

 

 

 

Wall 4 KS2  

Find the four calculations that are equal. 

 
                   50% of 50 

 
280 ÷ 7  

 
64 ÷ 8  

 
                   100 ÷ 4 

 
0.04 x 1000 

 
5² 

 
144 ÷12 

 
2³ 

 
3 x 4  

 
3/6 of 80 

 
0.5 x 50  

 
Difference between 90 and 82 

 
2 x 2 x 2  

 
1200 x 0.01 

 
10% of 400 

 
50% of 24 

 

 

All answers in blue equal 25    All answers in yellow equal 12   

           

All answers in pink equal 40    All answers in green equal 8  

 


